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#
made a study guide

with practice tests
for

Test 1.

It's on the website
.



Combinationst ofa objects .

the number of subsets
of

size k where OIkEn
is

( m ) = mi -e

-

read :

of-choosel ane as the
#

ways to
choose he objects from

n objects where
the order

doesn't matter .



Ex: S = [1 , 2 , 3 ,43

How many
subsets of size K

= 2

are there ?

#betsof sizehehere
[1 , 2) 52 , 33 are
[1 , 33 52, 43 Item
[1 , 43 53 , 43
-

th
We get the

right answer



Why does this work ?

# ways to pick where order
matters

12 4 12

13 No peilbilities possibilites
14

2/

23

3& S24 4 .3 =I
32

34 =41
42

43

1) ivide out double counting so
order doesn't matter.

Divide by 2 !
= k !

so we get:: = (2)



# Suppose a dealer has

the following cards :

⑪
How many ways

can
the

cards
dealer deal you

two

from these four ? Order

doesn't matter .

Ex:
Answer: I⑱- #

⑭



Note : (2)=n!
2

=X-

m
E: A dealer has

a

standard 52-card
deck .

They deal you
5 cards.

How many
possible hands

are there
that you can

get ?

Order doesn't
matter .



Ex hand:t
(called a royal flush

possible # hands

= (5)=

=
50 : 49 .48
5!47 !

26 17 10 12

52 . 55-50 . 49 ./
= 26 . 17 . 10 · 49 . 12
-

=

5..3 .R. =,960



&SuperLotto Plus

* ticket consists
of

· S "lucky" numbers
chosen

from 1-47[· 1 "Mega" number chosen
from 1- 27

· No repeat #S
amongst the

Lucky #S . But
the mega

#

can repeat a
Lucky #.

· Order
doesn't matter

for

the lucky #S . They
are

always
written in sequential

order on a ticket.



pletickets :

⑮L
-
lucky #S mega

#

T⑪ B-lucky #S-
How many possible tickets

are there ?Choose I mega #
from

the 27

47).S (
-
choose of

the 47 lucky #S



erpicture ①Q

-Q- ·:-

①&Q Q000000
①

! · ⑮D

⑭%

Lmu

("5) each has

(25)
branches

subbranches



The total of tickets is

(15).(27) · 27

5!42 !·=E6 . 4 S . 44 . 43 . 27

120

[


